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Name: __________________________________



1
If [image: image1.png]Jr—a =bxva



, which expression is equivalent to x?
	1)
	[image: image2.png]b
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	2)
	[image: image3.png]b
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	3)
	[image: image4.png]




	4)
	[image: image5.png]






2
If [image: image6.png]


, what is the value of x?
	1)
	11

	2)
	18

	3)
	45

	4)
	53



3
If x is a real number, what is the solution set of the equation [image: image7.png]


?
	1)
	[image: image8.png]




	2)
	[image: image9.png]




	3)
	[image: image10.png]




	4)
	[image: image11.png]






4
If [image: image12.png]Jax-1+2=5



 then x is equal to
	1)
	1

	2)
	2

	3)
	5

	4)
	4



5
What is the solution of the equation [image: image13.png]Jax-3-3=6



?
	1)
	42

	2)
	39

	3)
	3

	4)
	6



6
What is the value of x in the equation [image: image14.png]


?
	1)
	46

	2)
	12

	3)
	3

	4)
	6



7
What is the solution set of the equation [image: image15.png]


?
	1)
	[image: image16.png]




	2)
	[image: image17.png]




	3)
	[image: image18.png]




	4)
	[image: image19.png]






8
What is the solution set of the equation [image: image20.png]


?
	1)
	[image: image21.png]




	2)
	[image: image22.png]




	3)
	[image: image23.png]




	4)
	[image: image24.png]






9
Which statement is true about the roots of the equation [image: image25.png]


?
	1)
	The only root is 1.

	2)
	The only root is 4.

	3)
	Both 1 and 4 are roots.

	4)
	Neither 1 nor 4 is a root.
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